SAP ABAP table RIMRO2 {API Struct: Insert Measurement Document (Incl. EXCHG, TOTEX)}
CRID

RIMRO2-TOLID = CRID-OB]JID MANDT [CLNT (3)]

e--TTTTT T 0.N OBJTY [CHAR (2)]

-7 OBJID [NUMC (8)]

2 IMPTT

MANDT [CLNT (3)]
POINT [CHAR (12)]

_----0.N

QALS
MANDANT [CLNT (3)]
PRUEFLOS [NUMC (12)]

QASV
MANDANT [CLNT (3)]
PRUEFLOS [NUMC (12)]
VORGLFNR [NUMC (8)]
MERKNR [NUMC (4)]
PROBENR [NUMC (6)]

QPCD
MANDT [CLNT (3)]
KATALOGART [CHAR (2)]
CODEGRUPPE [CHAR (8)]
CODE [CHAR (4)]

QPGR
MANDT [CLNT (3)]
KATALOGART [CHAR (2)]
CODEGRUPPE [CHAR (8)]

TOOO
MANDT [CLNT (3)]

TOOG6
___________ MANDT [CLNT (3)]
MSEHI [UNIT (3)]

TQ1l5
MANDT [CLNT (3)]
KATALOGART [CHAR (2)]




